®OB &

1. T E 4 PN BN A L T L

2. B L 3% Br T EEHEIT4—18

3. T # FROfEAE B Rk 294 9H 29HET
- IR NAL S%E (B A ML OUE . 2 BNl DREER
BX n+ Tﬁ g

FRETHFICHO BRI L. MR TF




BB /N RUE B A L o T T EAMAE FE A AR E
W A& & & 31,503,600
T = i #& & 29,170,000 [
{HEBiAE 4% 4 2,333,600 M




£ WEHNMNEREEE M LBETLSE No.
£ 71 1% = | B i 2] fi&
HETEE
| &ETHE 1] K 10,324,979
II| EXR&HETE 1 =K 2,119,202
I Bt T3 1 = 8,900,280
HiETEEZ 21,344,461
HimE
I B 1] K 1,107,750
| BGEee 1 = 3,932,362
m| —xEEE 1 = 2,786,210
FEmEE 7,826,322
&5t 29,170,783
RET A (T #S) T AT 29,170,000
THE RIS H Y% 2,333,600
WEF(TEE) 31,503,600




£ W WEHNEREEE M LBETLSE No.
4 {71 1% 2 Bifi i ] fi&

I |BETE
1 [EERGE THF 1 = 429,075
2 |[BEETE 1 = 2,437,616
3 |NEUETE 1 &K 3,351,701
4 |BEKETHE 1 = 102,246
5 |2=ybE OFOMITEHE 1 &K 2,853,880
6 |- 1 = 1,150,461
ait 10,324,979




£ W WHENEREEBE M LBRETIS No. 2

2 g1 i3] = # = ==X v B i & i) fis
I [EXHZELIS
1 BT (1) BT iR 1 = 61,420
(2) BIT 5y 1 = 1,595,513
(8) U My 1] =X 332,629
2 |FHE RN (1) ML ZEREHY 1] =X 129,640

&t 2,119,202




£ W WEHNEREEE M LBETLSE No.
4 {71 1% 2 Bifi i ] fi&

I |HEWERIETE
1 [#E 0 1 = 88,390
2 |2 EaR 1 = 3,832,200
3[R KER 1 =& 1,108,840
4 |HEKE A 1 = 2,996,000
5 [T KER 1 &K 125,140
6 | H AR 1 K 423,710
7 |WETE 1 &K 326,000
ait 8,900,280




